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The variables v3a08a-z are based on question 810 in the DHS-7 women's questionnaire.  The
base or denominator for this question is women who are not pregnant (v213 <> 1 [see filter 806 in
the questionnaire]), are not currently using a method of contraception (v312 = 0 [see filter 807 in
the questionnaire]), want no more children or want to wait at least two years for the next child
(v605 = 5 or v605 = 2 [see filter 808], and have had sexual intercourse in the past year (100 <=
v527 <= 399 [see filter 809]). In a few surveys the question 810 is also restricted just to currently
married or in union women (v502 = 1).
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